
➶!"#!$% ✶

✶'✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x− y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(2x− y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 # y = 2x✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(2x+ y)dxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≥ 0 # y ≤ 0✳

✸'✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ 2y) dxdydz,

615 ❱ 36"!$#-5$! '325"C$3.%78# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ y − z) dxdydz,

615 ❱ 36"!$#-5$! '325"C$3.%78# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# '/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 # y = 2x✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (x;x+ y) '"# 12#F5$## %3-<#

'3 6"!H#<= y = 5− 2x 3% %3-<# (2; 1) 13 %3-<# (3;−1)✳



➶!"#!$% ✷

✶(✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(3x+ y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x+ y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x+ y)dxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x− 2y) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x− y + 2z) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# (/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (y;x− y) ("# 12#F5$## %3-<#

(3 6"!H#<= y = x− 2 3% %3-<# (2; 0) 13 %3-<# (3; 1)✳



➶!"#!$% ✸

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#F6$## %4.=#

(4 7"!H#=> y = 2x+ 1 4% %4.=# (2; 5) 24 %4.=# (3; 7)✳



➶!"#!$% ✹

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (x;x+ y) ("# 23#F6$## %4.<#

(4 7"!H#<= y = 5− 2x 4% %4.<# (2; 1) 24 %4.<# (3;−1)✳



➶!"#!$% ✺

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(xy) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#F6$## %4.=#

(4 7"!H#=> y = x− 2 4% %4.=# (0;−2) 24 %4.=# (1;−1)✳



➶!"#!$% ✻

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (1;−2)✳



➶!"#!$% ✼

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 5− 2x 4% %4.=# (1; 3) 24 %4.=# (3;−1)✳



➶!"#!$% ✽

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 3)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ 3y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ 2x+ y + z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = x− 2 4% %4.=# (1;−1) 24 %4.=# (3; 1)✳



➶!"#!$% ✾

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ 1)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ 3z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 1✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(2x− 3y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (1;−2) 24 %4.=# (3; 7)✳



➶!"#!$% ✶✵

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− 2y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 1✱ x = 1✱ y = 3✱ z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ y + z = 3✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 5− 2x 4% %4.=# (0; 5) 24 %4.=# (2; 1)✳



➶!"#!$% ✶✶

✶'✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x− 2y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(2x+ y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 # y = 2x+ 8✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

xdxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≤ 0 # y ≥ 0✳

✸'✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(2x− y) dxdydz,

615 ❱ 36"!$#-5$! '325"C$3.%78# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 2✱ z = 1✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ 3y) dxdydz,

615 ❱ 36"!$#-5$! '325"C$3.%78# x = 0✱ y = 1✱ z = 0✱ 2x+ y + 2z = 6✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# '/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 # y = 2x+ 8✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (x;x+ y) '"# 12#F5$## %3-<#

'3 6"!H#<= y = x− 2 3% %3-<# (0;−2) 13 %3-<# (2; 0)✳



➶!"#!$% ✶✷

✶(✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x+ 2y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = −1✱ x = 2✱ y = 1✱ y = 3✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(2x− y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 + 1 # y = 2x+ 4✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

ydxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ z) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 1✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ 2y) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# (/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 + 1 # y = 2x+ 4✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (x− y;x) ("# 12#F5$## %3-<#

(3 6"!H#<= y = 2x+ 1 3% %3-<# (0; 1) 13 %3-<# (2; 5)✳



➶!"#!$% ✶✸

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(xy) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x+ y; 2x) ("# 23#F6$## %4.✲

=# (4 7"!H#=> y = 3x− 1 4% %4.=# (0;−1) 24 %4.=# (3; 8)✳



➶!"#!$% ✶✹

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (x;x+ y) ("# 23#F6$## %4.<#

(4 7"!H#<= y = 5− 2x 4% %4.<# (2; 1) 24 %4.<# (3;−1)✳



➶!"#!$% ✶✺

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y − z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#F6$## %4.=#

(4 7"!H#=> y = x− 2 4% %4.=# (2; 0) 24 %4.=# (3; 1)✳



➶!"#!$% ✶✻

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (2; 5) 24 %4.=# (3; 7)✳



➶!"#!$% ✶✼

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ 2y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 5− 2x 4% %4.=# (2; 1) 24 %4.=# (3;−1)✳



➶!"#!$% ✶✽

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ 3y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− 2y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = x− 2 4% %4.=# (0;−2) 24 %4.=# (1;−1)✳



➶!"#!$% ✶✾

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 3)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (1;−2)✳



➶!"#!$% ✷✵

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ 1)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 5− 2x 4% %4.=# (1; 3) 24 %4.=# (3;−1)✳



➶!"#!$% ✷✶

✶(✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x− 2y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(2x− y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 # y = 2x✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

xdxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(xy) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x− y + z) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# (/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 # y = 2x✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (y;x− y) ("# 12#F5$## %3-<#

(3 6"!H#<= y = x− 2 3% %3-<# (1;−1) 13 %3-<# (3; 1)✳



➶!"#!$% ✷✷

✶(✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x− 2y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x+ y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

ydxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ y) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ y − z) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# (/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (y;x− y) ("# 12#F5$## %3-<#

(3 6"!H#<= y = 2x+ 1 3% %3-<# (1;−2) 13 %3-<# (3; 7)✳



➶!"#!$% ✷✸

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + 2z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x− y;x) )"# 23#F6$## %4.=#

)4 7"!H#=> y = 5− 2x 4% %4.=# (0; 5) 24 %4.=# (2; 1)✳



➶!"#!$% ✷✹

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (x;x+ y) )"# 23#F6$## %4.<#

)4 7"!H#<= y = x− 2 4% %4.<# (0;−2) 24 %4.<# (2; 0)✳



➶!"#!$% ✷✺

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ 2y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x− y;x) )"# 23#F6$## %4.=#

)4 7"!H#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (2; 5)✳



➶!"#!$% ✷✻

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− 2y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x+ y; 2x) )"# 23#G6$## %4.✲

=# )4 7"!I#=> y = 3x− 1 4% %4.=# (0;−1) 24 %4.=# (3; 8)✳



➶!"#!$% ✷✼

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 5− 2x 4% %4.=# (2; 1) 24 %4.=# (3;−1)✳



➶!"#!$% ✷✽

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ 3y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (y;x− y) )"# 23#G6$## %4.=#

)4 7"!I#=> y = x− 2 4% %4.=# (2; 0) 24 %4.=# (3; 1)✳



➶!"#!$% ✷✾

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(xy) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y − z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 2x+ 1 4% %4.=# (2; 5) 24 %4.=# (3; 7)✳



➶!"#!$% ✸✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 3)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (2; 1) 35 %5/># (3;−1)✳



➶!"#!$% ✸✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ 1)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#F6$## %4.=#

(4 7"!H#=> y = x− 2 4% %4.=# (0;−2) 24 %4.=# (1;−1)✳



➶!"#!$% ✸✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x− y;x) )"# 23#F6$## %4.=#

)4 7"!H#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (1;−2)✳



➶!"#!$% ✸✸

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

(x+ y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' y = x2 ' y = 3x✳

✷✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

xdxdy,

 !" ❙ ✕ ("57"$56 ;$< % $%!'</% ✷ / ="&5$#+ 7 5#(;" (0; 0) ' <!#7)"57#$*>✲

@%* </)#7'*+ x ≥ 0 ' y ≥ 0✳

✸B✭✸✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(x+ 2y) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(x+ y + z) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮%85' ="&5$ 5*F"/5' #!&#$#!&#8 #G)%/5' B)#/;#/5'✱ # $%&'("&✲

&#8 )'&'*+' y = x2 ' y = 3x✳

✺✭✸✮✳ ➶4('/)'56 $%G#5< /')4

−→
F (x; y) = (x;x+ y) B$' !7'F"&'' 5#(;'

B#  $%H';< y = 5− 2x #5 5#(;' (1; 3) !# 5#(;' (3;−1)✳



➶!"#!$% ✸✹

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"C$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"C$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9F70%# 53$5"53$56 5G1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶./#01#%2 "!G5%> 0#1.

−→
F (x; y) = (y;x− y) )"# 34#F7$## %5/=#

)5 8"!H#=> y = x− 2 5% %5/=# (1;−1) 35 %5/=# (3; 1)✳



➶!"#!$% ✸✺

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9F70%# 53$5"53$56 5G1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶./#01#%2 "!G5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#F7$## %5/>#

)5 8"!H#>? y = 2x+ 1 5% %5/># (1;−2) 35 %5/># (3; 7)✳



➶!"#!$% ✸✻

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (0; 5) 35 %5/># (2; 1)✳



➶!"#!$% ✸✼

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(xy) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (2; 0)✳



➶!"#!$% ✸✽

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ 3y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 2x+ 1 5% %5/># (0; 1) 35 %5/># (2; 5)✳



➶!"#!$% ✸✾

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x+ y; 2x) )"# 34#G7$## %5/✲

># )5 8"!I#>? y = 3x− 1 5% %5/># (0;−1) 35 %5/># (3; 8)✳



➶!"#!$% ✹✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 5− 2x 5% %5/=# (2; 1) 35 %5/=# (3;−1)✳



➶!"#!$% ✹✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 3)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ 2y) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (y;x− y) ("# 23#F6$## %4.<#

(4 7"!H#<= y = x− 2 4% %4.<# (2; 0) 24 %4.<# (3; 1)✳



➶!"#!$% ✹✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ 1)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− 2y) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (x− y;x) )"# 23#F6$## %4.<#

)4 7"!H#<= y = 2x+ 1 4% %4.<# (2; 5) 24 %4.<# (3; 7)✳



➶!"#!$% ✹✸

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− z) dxdydz,

837 ❱ 58"!$#/7$! )547"C$50%9:# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"C$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# ?7$%" %9F70%# 53$5"53$56 5G1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x✳

✺✭✸✮✳ ➶./#01#%2 "!G5%> 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#F7$## %5/=#

)5 8"!H#=> y = 5− 2x 5% %5/=# (2; 1) 35 %5/=# (3;−1)✳



➶!"#!$% ✹✹

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (y;x− y) ("# 23#F6$## %4.<#

(4 7"!H#<= y = x− 2 4% %4.<# (0;−2) 24 %4.<# (1;−1)✳



➶!"#!$% ✹✺

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(xy) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9F70%# 53$5"53$56 5G1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶./#01#%2 "!G5%> 0#1.

−→
F (x; y) = (x− y;x) )"# 34#F7$## %5/=#

)5 8"!H#=> y = 2x+ 1 5% %5/=# (0; 1) 35 %5/=# (1;−2)✳



➶!"#!$% ✹✻

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 5− 2x 5% %5/=# (1; 3) 35 %5/=# (3;−1)✳



➶!"#!$% ✹✼

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (y;x− y) )"# 34#G7$## %5/=#

)5 8"!I#=> y = x− 2 5% %5/=# (1;−1) 35 %5/=# (3; 1)✳



➶!"#!$% ✹✽

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ 3y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (y;x− y) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 2x+ 1 5% %5/=# (1;−2) 35 %5/=# (3; 7)✳



➶!"#!$% ✹✾

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 5− 2x 5% %5/=# (0; 5) 35 %5/=# (2; 1)✳



➶!"#!$% ✺✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (2; 0)✳



➶!"#!$% ✺✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#F6$## %4.=#

(4 7"!H#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (2; 5)✳



➶!"#!$% ✺✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 3)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x+ y; 2x) )"# 23#F6$## %4.✲

=# )4 7"!H#=> y = 3x− 1 4% %4.=# (0;−1) 24 %4.=# (3; 8)✳



➶!"#!$% ✺✸

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ 1)dxdy,

837 ❙  !"#$%&'$# (%$%)*% x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶.✭✹✮✳ ➶3&%.(%45 67 8$ 8 %$4'!"#(

∫∫
S

(x+ y)dxdy,

!6' ❙  !"#$%&'$# (%$%)*% y = x2 % y = 3x✳

✷✭✹✮✳ ➶3&%.(%45 67 8$ 8 %$4'!"#(

∫∫
S

ydxdy,

!6' ❙ ✕ &'47'"45 ;"<!# "#6%<.# ✷ . ='$4" * 7 4 &;' (0; 0) % <6 7('47 ")>✲

@#) <.( 7%)* x ≥ 0 % y ≤ 0✳

✸B✭✸✮✳ ➶3&%.(%45 4" 8$ 8 %$4'!"#(

∫∫∫
V

(xy) dxdydz,

!6' ❱  !"#$%&'$# B 7'"C$ .4)*% x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸.✭✺✮✳ ➶3&%.(%45 4" 8$ 8 %$4'!"#(

∫∫∫
V

(x+ y + 2z) dxdydz,

!6' ❱  !"#$%&'$# B 7'"C$ .4)*% x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮#84% ='$4" 4)F'.4%  6$ " 6$ 8  G(#.4% B( .; .4%✱  !"#$%&'$✲

$ 8 (%$%)*% y = x2 % y = 3x✳

✺✭✸✮✳ ➶3&%.(%45 "#G 4< .%(3

−→
F (x; y) = (x;x+ y) B"% 67%F'$%% 4 &;%

B !"#H%;< y = 5− 2x  4 4 &;% (2; 1) 6 4 &;% (3;−1)✳



➶!"#!$% ✺✹

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9F70%# 53$5"53$56 5G1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶./#01#%2 "!G5%> 0#1.

−→
F (x; y) = (y;x− y) )"# 34#F7$## %5/=#

)5 8"!H#=> y = x− 2 5% %5/=# (2; 0) 35 %5/=# (3; 1)✳



➶!"#!$% ✺✺

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#F6$## %4.=#

(4 7"!H#=> y = 2x+ 1 4% %4.=# (2; 5) 24 %4.=# (3; 7)✳



➶!"#!$% ✺✻

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (2; 1) 35 %5/># (3;−1)✳



➶!"#!$% ✺✼

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (1;−1)✳



➶!"#!$% ✺✽

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ 3y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 2x+ 1 5% %5/># (0; 1) 35 %5/># (1;−2)✳



➶!"#!$% ✺✾

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (1; 3) 35 %5/># (3;−1)✳



➶!"#!$% ✻✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (1;−1) 35 %5/># (3; 1)✳



➶!"#!$% ✻✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(xy) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (1;−2) 24 %4.=# (3; 7)✳



➶!"#!$% ✻✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 5− 2x 4% %4.=# (0; 5) 24 %4.=# (2; 1)✳



➶!"#!$% ✻✸

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 3)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (2; 0)✳



➶!"#!$% ✻✹

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ 1)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 2x+ 1 5% %5/=# (0; 1) 35 %5/=# (2; 5)✳



➶!"#!$% ✻✺

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x+ y; 2x) )"# 34#G7$## %5/✲

># )5 8"!I#>? y = 3x− 1 5% %5/># (0;−1) 35 %5/># (3; 8)✳



➶!"#!$% ✻✻

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− 2y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 5− 2x 4% %4.=# (2; 1) 24 %4.=# (3;−1)✳



➶!"#!$% ✻✼

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (2; 0) 35 %5/># (3; 1)✳



➶!"#!$% ✻✽

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ 3y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#H7$## %5/>#

)5 8"!J#>? y = 2x+ 1 5% %5/># (2; 5) 35 %5/># (3; 7)✳



➶!"#!$% ✻✾

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(xy) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = 5− 2x 5% %5/># (2; 1) 35 %5/># (3;−1)✳



➶!"#!$% ✼✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (1;−1)✳



➶!"#!$% ✼✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y − z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (1;−2)✳



➶!"#!$% ✼✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + 2z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 5− 2x 4% %4.=# (1; 3) 24 %4.=# (3;−1)✳



➶!"#!$% ✼✸

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶/✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

(x+ y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' y = x2 ' y = 3x✳

✷✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

(2x+ y)dxdy,

 !" ❙ ✕ ("57"$56 ;$< % $%!'</% ✷ / ="&5$#+ 7 5#(;" (0; 0) ' <!#7)"57#$*>✲

@%* </)#7'*+ x ≥ 0 ' y ≤ 0✳

✸B✭✸✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(x+ 2y) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(x+ y + z) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮%85' ="&5$ 5*F"/5' #!&#$#!&#8 #G)%/5' B)#/;#/5'✱ # $%&'("&✲

&#8 )'&'*+' y = x2 ' y = 3x✳

✺✭✸✮✳ ➶4('/)'56 $%G#5< /')4

−→
F (x; y) = (y;x− y) B$' !7'F"&'' 5#(;'

B#  $%H';< y = x− 2 #5 5#(;' (1;−1) !# 5#(;' (3; 1)✳



➶!"#!$% ✼✹

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 3)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (y;x− y) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 2x+ 1 5% %5/=# (1;−2) 35 %5/=# (3; 7)✳



➶!"#!$% ✼✺

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ 1)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (0; 5) 35 %5/># (2; 1)✳



➶!"#!$% ✼✻

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (2; 0)✳



➶!"#!$% ✼✼

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(xy) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (2; 5)✳



➶!"#!$% ✼✽

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ 3y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x+ y; 2x) )"# 34#H7$## %5/✲

># )5 8"!J#>? y = 3x− 1 5% %5/># (0;−1) 35 %5/># (3; 8)✳



➶!"#!$% ✼✾

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = 5− 2x 5% %5/># (2; 1) 35 %5/># (3;−1)✳



➶!"#!$% ✽✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (2; 0) 35 %5/># (3; 1)✳



➶!"#!$% ✽✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ 2y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (2; 5) 24 %4.=# (3; 7)✳



➶!"#!$% ✽✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− 2y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 5− 2x 4% %4.=# (2; 1) 24 %4.=# (3;−1)✳



➶!"#!$% ✽✸

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (1;−1)✳



➶!"#!$% ✽✹

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 2x+ 1 5% %5/=# (0; 1) 35 %5/=# (1;−2)✳



➶!"#!$% ✽✺

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 3)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(xy) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (1; 3) 35 %5/># (3;−1)✳



➶!"#!$% ✽✻

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ 1)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (1;−1) 35 %5/># (3; 1)✳



➶!"#!$% ✽✼

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = 2x+ 1 5% %5/># (1;−2) 35 %5/># (3; 7)✳



➶!"#!$% ✽✽

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ 3y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 5− 2x 4% %4.=# (0; 5) 24 %4.=# (2; 1)✳



➶!"#!$% ✽✾

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (2; 0)✳



➶!"#!$% ✾✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#H7$## %5/>#

)5 8"!J#>? y = 2x+ 1 5% %5/># (0; 1) 35 %5/># (2; 5)✳



➶!"#!$% ✾✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x+ y; 2x) ("# 23#G6$## %4.✲

=# (4 7"!I#=> y = 3x− 1 4% %4.=# (0;−1) 24 %4.=# (3; 8)✳



➶!"#!$% ✾✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y − z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 5− 2x 4% %4.=# (2; 1) 24 %4.=# (3;−1)✳



➶!"#!$% ✾✸

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

(x+ y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' y = x2 ' y = 3x✳

✷✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

xdxdy,

 !" ❙ ✕ ("57"$56 ;$< % $%!'</% ✷ / ="&5$#+ 7 5#(;" (0; 0) ' <!#7)"57#$*>✲

@%* </)#7'*+ x ≤ 0 ' y ≥ 0✳

✸B✭✸✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(xy) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(x− y + 2z) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮%85' ="&5$ 5*F"/5' #!&#$#!&#8 #G)%/5' B)#/;#/5'✱ # $%&'("&✲

&#8 )'&'*+' y = x2 ' y = 3x✳

✺✭✸✮✳ ➶4('/)'56 $%G#5< /')4

−→
F (x; y) = (y;x− y) B$' !7'F"&'' 5#(;'

B#  $%H';< y = x− 2 #5 5#(;' (2; 0) !# 5#(;' (3; 1)✳



➶!"#!$% ✾✹

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 2x+ 1 5% %5/=# (2; 5) 35 %5/=# (3; 7)✳



➶!"#!$% ✾✺

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (2; 1) 35 %5/># (3;−1)✳



➶!"#!$% ✾✻

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 3)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (1;−1)✳



➶!"#!$% ✾✼

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ 1)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#H7$## %5/>#

)5 8"!J#>? y = 2x+ 1 5% %5/># (0; 1) 35 %5/># (1;−2)✳



➶!"#!$% ✾✽

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ 3y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = 5− 2x 5% %5/># (1; 3) 35 %5/># (3;−1)✳



➶!"#!$% ✾✾

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y − z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = x− 2 4% %4.=# (1;−1) 24 %4.=# (3; 1)✳



➶!"#!$% ✶✵✵

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (1;−2) 24 %4.=# (3; 7)✳



➶!"#!$% ✶✵✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(xy) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 5− 2x 4% %4.=# (0; 5) 24 %4.=# (2; 1)✳



➶!"#!$% ✶✵✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) )"# 23#G6$## %4.=#

)4 7"!I#=> y = x− 2 4% %4.=# (0;−2) 24 %4.=# (2; 0)✳



➶!"#!$% ✶✵✸

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 2x+ 1 5% %5/># (0; 1) 35 %5/># (2; 5)✳



➶!"#!$% ✶✵✹

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x+ y; 2x) )"# 34#G7$## %5/✲

=# )5 8"!I#=> y = 3x− 1 5% %5/=# (0;−1) 35 %5/=# (3; 8)✳



➶!"#!$% ✶✵✺

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (2; 1) 35 %5/># (3;−1)✳



➶!"#!$% ✶✵✻

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (2; 0) 35 %5/># (3; 1)✳



➶!"#!$% ✶✵✼

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 3)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#H7$## %5/>#

)5 8"!J#>? y = 2x+ 1 5% %5/># (2; 5) 35 %5/># (3; 7)✳



➶!"#!$% ✶✵✽

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ 1)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ 3y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = 5− 2x 5% %5/># (2; 1) 35 %5/># (3;−1)✳



➶!"#!$% ✶✵✾

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(xy) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9H70%# 53$5"53$56 5I1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶./#01#%2 "!I5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#H7$## %5/>#

)5 8"!J#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (1;−1)✳



➶!"#!$% ✶✶✵

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (1;−2)✳



➶!"#!$% ✶✶✶

✶'✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x− y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(2x− y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 # y = 2x✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

xdxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≤ 0 # y ≥ 0✳

✸'✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ y) dxdydz,

615 ❱ 36"!$#-5$! '325"C$3.%78# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ y + z) dxdydz,

615 ❱ 36"!$#-5$! '325"C$3.%78# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# '/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 # y = 2x✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (x;x+ y) '"# 12#F5$## %3-<#

'3 6"!H#<= y = 5− 2x 3% %3-<# (1; 3) 13 %3-<# (3;−1)✳



➶!"#!$% ✶✶✷

✶(✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(3x+ y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x+ y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

ydxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ y) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x− y + z) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# (/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (y;x− y) ("# 12#F5$## %3-<#

(3 6"!H#<= y = x− 2 3% %3-<# (1;−1) 13 %3-<# (3; 1)✳



➶!"#!$% ✶✶✸

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

(x+ y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' y = x2 ' y = 3x✳

✷✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

xdxdy,

 !" ❙ ✕ ("57"$56 ;$< % $%!'</% ✷ / ="&5$#+ 7 5#(;" (0; 0) ' <!#7)"57#$*>✲

@%* </)#7'*+ x ≤ 0 ' y ≥ 0✳

✸B✭✸✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(x+ 2y) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(x+ y − z) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮%85' ="&5$ 5*F"/5' #!&#$#!&#8 #G)%/5' B)#/;#/5'✱ # $%&'("&✲

&#8 )'&'*+' y = x2 ' y = 3x✳

✺✭✸✮✳ ➶4('/)'56 $%G#5< /')4

−→
F (x; y) = (y;x− y) B$' !7'F"&'' 5#(;'

B#  $%H';< y = 2x+ 1 #5 5#(;' (1;−2) !# 5#(;' (3; 7)✳



➶!"#!$% ✶✶✹

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≥ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− 2y) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (x− y;x) ("# 23#F6$## %4.<#

(4 7"!H#<= y = 5− 2x 4% %4.<# (0; 5) 24 %4.<# (2; 1)✳



➶!"#!$% ✶✶✺

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x;x+ y) ("# 23#F6$## %4.=#

(4 7"!H#=> y = x− 2 4% %4.=# (0;−2) 24 %4.=# (2; 0)✳



➶!"#!$% ✶✶✻

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (2; 5)✳



➶!"#!$% ✶✶✼

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(xy) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x+ y; 2x) ("# 23#G6$## %4.✲

=# (4 7"!I#=> y = 3x− 1 4% %4.=# (0;−1) 24 %4.=# (3; 8)✳



➶!"#!$% ✶✶✽

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 3)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ 3y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = 5− 2x 4% %4.=# (2; 1) 24 %4.=# (3;−1)✳



➶!"#!$% ✶✶✾

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ 1)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (y;x− y) ("# 23#G6$## %4.=#

(4 7"!I#=> y = x− 2 4% %4.=# (2; 0) 24 %4.=# (3; 1)✳



➶!"#!$% ✶✷✵

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y − z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 2x+ 1 4% %4.=# (2; 5) 24 %4.=# (3; 7)✳



➶!"#!$% ✶✷✶

✶(✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x− 2y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(2x− y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 # y = 2x✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

ydxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ 2y) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x− y + 2z) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# (/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 # y = 2x✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (x;x+ y) ("# 12#F5$## %3-<#

(3 6"!H#<= y = 5− 2x 3% %3-<# (2; 1) 13 %3-<# (3;−1)✳



➶!"#!$% ✶✷✷

✶(✭✷✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x− y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶.✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

(x+ y)dxdy,

615 ❙ 36"!$#-5$! /#$#78# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶,-#./#%0 1234$34 #$%56"!/

∫∫
S

xdxdy,

615 ❙ ✕ -5%25"%0 <"=6! "!1#=.! ✷ . >5$%"38 2 %3-<5 (0; 0) # =132/5%23"7?✲
A!7 =./32#78 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x− 2y) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸.✭✺✮✳ ➶,-#./#%0 %"34$34 #$%56"!/

∫∫∫
V

(x+ y + z) dxdydz,

615 ❱ 36"!$#-5$! (325"C$3.%78# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!4%# >5$%" %7F5.%# 31$3"31$34 3G/!.%# (/3.<3.%#✱ 36"!$#-5$✲

$34 /#$#78# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶,-#./#%0 "!G3%= .#/,

−→
F (x; y) = (y;x− y) ("# 12#F5$## %3-<#

(3 6"!H#<= y = x− 2 3% %3-<# (0;−2) 13 %3-<# (1;−1)✳



➶!"#!$% ✶✷✸

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x− y;x) )"# 23#F6$## %4.=#

)4 7"!H#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (1;−2)✳



➶!"#!$% ✶✷✹

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (x;x+ y) )"# 23#F6$## %4.<#

)4 7"!H#<= y = 5− 2x 4% %4.<# (1; 3) 24 %4.<# (3;−1)✳



➶!"#!$% ✶✷✺

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

ydxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(xy) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (y;x− y) )"# 23#F6$## %4.=#

)4 7"!H#=> y = x− 2 4% %4.=# (1;−1) 24 %4.=# (3; 1)✳



➶!"#!$% ✶✷✻

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (y;x− y) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 2x+ 1 4% %4.=# (1;−2) 24 %4.=# (3; 7)✳



➶!"#!$% ✶✷✼

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y − z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 5− 2x 4% %4.=# (0; 5) 24 %4.=# (2; 1)✳



➶!"#!$% ✶✷✽

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ 3y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + 2z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x;x+ y) )"# 23#G6$## %4.=#

)4 7"!I#=> y = x− 2 4% %4.=# (0;−2) 24 %4.=# (2; 0)✳



➶!"#!$% ✶✷✾

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 3)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ 2y) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"D$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8G6/%# 42$4"42$45 4H0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶-.#/0#%1 "!H4%> /#0-

−→
F (x; y) = (x− y;x) )"# 23#G6$## %4.=#

)4 7"!I#=> y = 2x+ 1 4% %4.=# (0; 1) 24 %4.=# (2; 5)✳



➶!"#!$% ✶✸✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ 1)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x+ y; 2x) )"# 34#G7$## %5/✲

># )5 8"!I#>? y = 3x− 1 5% %5/># (0;−1) 35 %5/># (3; 8)✳



➶!"#!$% ✶✸✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≤ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (x;x+ y) ("# 23#F6$## %4.=#

(4 7"!H#=> y = 5− 2x 4% %4.=# (2; 1) 24 %4.=# (3;−1)✳



➶!"#!$% ✶✸✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 =">7! "!2#>/! ✷ / ?6$%"49 3 %4.=6 (0; 0) # >24306%34"8@✲
B!8 >/043#89 x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# ?6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/=4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%> /#0-

−→
F (x; y) = (y;x− y) )"# 23#F6$## %4.=#

)4 7"!H#=> y = x− 2 4% %4.=# (2; 0) 24 %4.=# (3; 1)✳



➶!"#!$% ✶✸✸

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶/✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

(x+ y)dxdy,

 !" ❙ # $%&'("&% )'&'*+' y = x2 ' y = 3x✳

✷✭✹✮✳ ➶4('/)'56 !7#8&#8 '&5" $%)

∫∫
S

(x− y)dxdy,

 !" ❙ ✕ ("57"$56 ;$< % $%!'</% ✷ / ="&5$#+ 7 5#(;" (0; 0) ' <!#7)"57#$*>✲

@%* </)#7'*+ x ≤ 0 ' y ≥ 0✳

✸B✭✸✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(xy) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶4('/)'56 5$#8&#8 '&5" $%)

∫∫∫
V

(x− y + z) dxdydz,

 !" ❱ # $%&'("&% B#7"$C&#/5*+' x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮%85' ="&5$ 5*F"/5' #!&#$#!&#8 #G)%/5' B)#/;#/5'✱ # $%&'("&✲

&#8 )'&'*+' y = x2 ' y = 3x✳

✺✭✸✮✳ ➶4('/)'56 $%G#5< /')4

−→
F (x; y) = (x− y;x) B$' !7'F"&'' 5#(;'

B#  $%H';< y = 2x+ 1 #5 5#(;' (2; 5) !# 5#(;' (3; 7)✳



➶!"#!$% ✶✸✹

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"C$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"C$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# ?7$%" %9F70%# 53$5"53$56 5G1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶./#01#%2 "!G5%> 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#F7$## %5/=#

)5 8"!H#=> y = 5− 2x 5% %5/=# (2; 1) 35 %5/=# (3;−1)✳



➶!"#!$% ✶✸✺

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9F70%# 53$5"53$56 5G1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶./#01#%2 "!G5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#F7$## %5/>#

)5 8"!H#>? y = x− 2 5% %5/># (0;−2) 35 %5/># (1;−1)✳



➶!"#!$% ✶✸✻

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 2x+ 1 5% %5/># (0; 1) 35 %5/># (1;−2)✳



➶!"#!$% ✶✸✼

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (1; 3) 35 %5/># (3;−1)✳



➶!"#!$% ✶✸✽

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ 3y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = x− 2 5% %5/># (1;−1) 35 %5/># (3; 1)✳



➶!"#!$% ✶✸✾

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (y;x− y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 2x+ 1 5% %5/># (1;−2) 35 %5/># (3; 7)✳



➶!"#!$% ✶✹✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 3)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = −1✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 5− 2x 5% %5/=# (0; 5) 35 %5/=# (2; 1)✳



➶!"#!$% ✶✹✶

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(3x+ 1)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(2x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≥ 0 # y ≥ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(xy) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y − z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (x;x+ y) ("# 23#F6$## %4.<#

(4 7"!H#<= y = x− 2 4% %4.<# (0;−2) 24 %4.<# (2; 0)✳



➶!"#!$% ✶✹✷

✶)✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− 2y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 2✱ x = 4✱ y = −1✱ y = 2✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x+ y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = 2x+ 3✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x− y + 2z) dxdydz,

726 ❱ 47"!$#.6$! )436"C$4/%89# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# )04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = 2x+ 3✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (x− y;x) )"# 23#F6$## %4.<#

)4 7"!H#<= y = 2x+ 1 4% %4.<# (0; 1) 24 %4.<# (2; 5)✳



➶!"#!$% ✶✹✸

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"C$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"C$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9F70%# 53$5"53$56 5G1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x✳

✺✭✸✮✳ ➶./#01#%2 "!G5%> 0#1.

−→
F (x; y) = (x+ y; 2x) )"# 34#F7$## %5/✲

=# )5 8"!H#=> y = 3x− 1 5% %5/=# (0;−1) 35 %5/=# (3; 8)✳



➶!"#!$% ✶✹✹

✶(✭✷✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# x = 1✱ x = 3✱ y = 1✱ y = 4✳
✶/✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

(x− y)dxdy,

726 ❙ 47"!$#.6$! 0#$#89# y = x2 # y = x+ 6✳

✷✭✹✮✳ ➶-.#/0#%1 2345$45 #$%67"!0

∫∫
S

xdxdy,

726 ❙ ✕ .6%36"%1 <"=7! "!2#=/! ✷ / >6$%"49 3 %4.<6 (0; 0) # =24306%34"8?✲
A!8 =/043#89 x ≤ 0 # y ≤ 0✳

✸(✭✸✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 0✱ y = 0✱ z = 1✱ x = 1✱ y = 2✱ z = 3✳

✸/✭✺✮✳ ➶-.#/0#%1 %"45$45 #$%67"!0

∫∫∫
V

(x+ y + 2z) dxdydz,

726 ❱ 47"!$#.6$! (436"C$4/%89# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!5%# >6$%" %8F6/%# 42$4"42$45 4G0!/%# (04/<4/%#✱ 47"!$#.6$✲

$45 0#$#89# y = x2 # y = x+ 6✳

✺✭✸✮✳ ➶-.#/0#%1 "!G4%= /#0-

−→
F (x; y) = (x;x+ y) ("# 23#F6$## %4.<#

(4 7"!H#<= y = 5− 2x 4% %4.<# (2; 1) 24 %4.<# (3;−1)✳



➶!"#!$% ✶✹✺

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(3x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = 1✱ y = −2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 # y = 3x+ 4✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≥ 0 # y ≤ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 2✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9F70%# 53$5"53$56 5G1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 # y = 3x+ 4✳

✺✭✸✮✳ ➶./#01#%2 "!G5%> 0#1.

−→
F (x; y) = (y;x− y) )"# 34#F7$## %5/=#

)5 8"!H#=> y = x− 2 5% %5/=# (2; 0) 35 %5/=# (3; 1)✳



➶!"#!$% ✶✹✻

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −1✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ y)dxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− 2y) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 2✱ x = 1✱ y = 2✱ z = 3✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 + 1 # y = 2x+ 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 2x+ 1 5% %5/=# (2; 5) 35 %5/=# (3; 7)✳



➶!"#!$% ✶✹✼

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 3✱ y = −1✱ y = 2✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x+ 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 2✱ z = 3✱ x = 4✱ y = 5✱ z = 6✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 5− 2x 5% %5/=# (2; 1) 35 %5/=# (3;−1)✳



➶!"#!$% ✶✹✽

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = −2✱ y = 2✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ 3y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = 2x2 # y = x+ 3✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

ydxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = −1✱ z = 0✱ x = 0✱ y = 1✱
z = 2✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y − z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 1✱ y = 0✱ z = 0✱ x+ y + 2z = 6✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = 2x2 # y = x+ 3✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (y;x− y) )"# 34#G7$## %5/=#

)5 8"!I#=> y = x− 2 5% %5/=# (0;−2) 35 %5/=# (1;−1)✳



➶!"#!$% ✶✹✾

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x− y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 2✱ x = 4✱ y = 1✱ y = 3✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 =">8! "!3#>0! ✷ 0 ?7$%"5: 4 %5/=7 (0; 0) # >35417%45"9@✲
B!9 >0154#9: x ≤ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(xy) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 0✱ z = 1✱ x = 2✱ y = 2✱ z = −1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x− y + 2z) dxdydz,

837 ❱ 58"!$#/7$! )547"D$50%9:# x = 0✱ y = 1✱ z = 0✱ x+ 2y + z = 4✳

✹✭✺✮✳ ❮!6%# ?7$%" %9G70%# 53$5"53$56 5H1!0%# )150=50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 2 # y = 2x− 2✳

✺✭✸✮✳ ➶./#01#%2 "!H5%> 0#1.

−→
F (x; y) = (x− y;x) )"# 34#G7$## %5/=#

)5 8"!I#=> y = 2x+ 1 5% %5/=# (0; 1) 35 %5/=# (1;−2)✳



➶!"#!$% ✶✺✵

✶)✭✷✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(x− 2y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# x = 1✱ x = 4✱ y = −1✱ y = 1✳
✶0✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

(2x+ y)dxdy,

837 ❙ 58"!$#/7$! 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✷✭✹✮✳ ➶./#01#%2 3456$56 #$%78"!1

∫∫
S

xdxdy,

837 ❙ ✕ /7%47"%2 >"?8! "!3#?0! ✷ 0 @7$%"5: 4 %5/>7 (0; 0) # ?35417%45"9A✲
C!9 ?0154#9: x ≥ 0 # y ≥ 0✳

✸)✭✸✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 1✱ z = 0✱ x = 2✱ y = 3✱ z = 1✳

✸0✭✺✮✳ ➶./#01#%2 %"56$56 #$%78"!1

∫∫∫
V

(x+ y + z) dxdydz,

837 ❱ 58"!$#/7$! )547"E$50%9:# x = 0✱ y = 0✱ z = 1✱ x+ y + 2z = 4✳

✹✭✺✮✳ ❮!6%# @7$%" %9G70%# 53$5"53$56 5H1!0%# )150>50%#✱ 58"!$#/7$✲

$56 1#$#9:# y = x2 − 1 # y = 3x− 1✳

✺✭✸✮✳ ➶./#01#%2 "!H5%? 0#1.

−→
F (x; y) = (x;x+ y) )"# 34#G7$## %5/>#

)5 8"!I#>? y = 5− 2x 5% %5/># (1; 3) 35 %5/># (3;−1)✳


